Delafield Street And Lemira Avenue Utility And Street Improvements - Concrete

Budget Amount: \$7,700,000.00

Recommend award of the Concrete Bid to the lowest bidder, Super Western, Inc., in the amount of \$7,570,829.07.

Bid Opened: 02/03/2023 11:00 AM CST

					Super We	stern, Inc.	State Con	tractors Inc	LaLonde Co	ntractors, Inc.	Zignego		Musson Bros. Inc.	
Line Item	tem Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension	Unit Price	Extension	Unit Price	Extension	Unit Price	Extension
d Amount t		'		,		\$7,570,829.07	-	\$7,654,321.00		\$7,752,788.84		\$7,831,469.90		\$7,926,609.98
Concrete	Pavement								·					
1	1001	TRAFFIC CONTROL	LS	1	\$142,796.13	\$142,796.13	\$178,357.42	\$178,357.42	\$253,415.66	\$253,415.66	\$203,000.00	\$203,000.00	\$267,818.29	\$267,818.29
2		DETOUR ROUTE	LS	1	\$12,551.30	\$12,551.30	\$12,520.00	\$12,520.00	\$12,520.00	\$12,520.00	\$12,520.00	\$12,520.00	\$12,520.00	\$12,520.00
		TRAFFIC CONTROL SIGN - PORTABLE						, , , , , , ,		,		,		
3	1995	CHANGEABLE MESSAGE	EACH	4	\$1,002.50	\$4,010.00	\$1,000.00	\$4,000.00	\$1,000.00	\$4,000.00	\$1,000.00	\$4,000.00	\$1,000.00	\$4,000.00
4	2003	EROSION BALES	EACH	30	\$0.01	\$0.30	\$13.00	\$390.00	\$13.00	\$390.00	\$13.00	\$390.00	\$13.00	\$390.00
5	2005	INLET PROTECTION	EACH	30	\$70.18	\$2,105.40	\$145.00	\$4,350.00	\$145.00	\$4,350.00	\$145.00	\$4,350.00	\$145.00	\$4,350.00
6	3041	CLEARING	INCH DIA	274	\$43.15	\$11,823.10	\$50.00	\$13,700.00	\$39.00	\$10,686.00	\$40.89	\$11,203.86	\$65.65	\$17,988.10
7	3042	GRUBBING	INCH DIA	274	\$16.08	\$4,405.92	\$20.00	\$5,480.00	\$8.00	\$2,192.00	\$15.24	\$4,175.76	\$15.15	\$4,151.10
8	3060	REMOVE AND REPLACE MAILBOX	EACH	14	\$90.23	\$1,263.22	\$100.00	\$1,400.00	\$90.00	\$1,260.00	\$90.00	\$1,260.00	\$300.00	\$4,200.00
9	3061	INSTALL TEMPORARY MAILBOX(ES)	LS	1	\$200.50	\$200.50	\$4,911.60	\$4,911.60	\$200.00	\$200.00	\$200.00	\$200.00	\$2,000.00	\$2,000.00
10	3100	REMOVE SEWER MANHOLE	EACH	14	\$441.10	\$6,175.40	\$440.00	\$6,160.00	\$440.00	\$6,160.00	\$440.00	\$6,160.00	\$1,141.53	\$15,981.42
11	3101	REMOVE INLET	EACH	37	\$401.00	\$14,837.00	\$400.00	\$14,800.00	\$400.00	\$14,800.00	\$400.00	\$14,800.00	\$671.05	\$24,828.85
12		REMOVE PIPE	LF	850	\$30.08	\$25,568.00	\$30.00	\$25,500.00	\$30.00	\$25,500.00	\$30.00	\$25,500.00	\$29.79	\$25,321.50
13		ABANDON SEWER MANHOLE	EACH	8	\$401.00	\$3,208.00	\$400.00	\$3,200.00	\$400.00	\$3,200.00	\$400.00	\$3,200.00	\$654.45	\$5,235.60
14	3205	ABANDON PIPE	LF	100	\$17.04	\$1,704.00	\$17.00	\$1,700.00	\$17.00	\$1,700.00	\$17.00	\$1,700.00	\$33.39	\$3,339.00
15	3300	REMOVE EXISTING CURB AND GUTTER	LF	8500	\$4.26	\$36,210.00	\$4.05	\$34,425.00	\$5.72	\$48,620.00	\$6.00	\$51,000.00	\$5.36	\$45,560.00
16	3331	REMOVE EXISTING SIDEWALK	SF	57900	\$0.56	\$32,424.00	\$1.20	\$69,480.00	\$1.68	\$97,272.00	\$1.50	\$86,850.00	\$0.59	\$34,161.00
17		SAWCUTTING AT PAVEMENT LIMITS	LF	1800	\$2.51	\$4,518.00	\$2.00	\$3,600.00	\$2.50	\$4,500.00	\$3.80	\$6,840.00	\$4.00	\$7,200.00
18	3650	REMOVE EXISTING ROADWAY	SY	24000	\$3.06	\$73,440.00	\$2.90	\$69,600.00	\$6.16	\$147,840.00	\$7.00	\$168,000.00	\$7.67	\$184,080.00
		REMOVE AND DISPOSE OF EXISTING BUS												
19	3990	SHELTER	LS	1	\$200.50	\$200.50	\$2,500.00	\$2,500.00	\$200.00	\$200.00	\$200.00	\$200.00	\$1,387.71	\$1,387.71
		REMOVE AND DELIVER EXISTING BUS												
20	3991	SHELTER	LS	1	\$300.75	\$300.75	\$2,500.00	\$2,500.00	\$300.00	\$300.00	\$300.00	\$300.00	\$2,104.67	\$2,104.67
		REMOVE, STORE, AND REINSTALL EXISTING												
21		BUS SHELTER	LS	2	\$401.00	\$802.00	\$2,500.00	\$5,000.00	\$400.00	\$800.00	\$400.00	\$800.00	\$3,954.28	\$7,908.56
22	4010	SHAPING AND GRADING TO SUBGRADE	LF	4000	\$49.89	\$199,560.00	\$44.50	\$178,000.00	\$55.31	\$221,240.00	\$43.00	\$172,000.00	\$76.75	\$307,000.00
23		GEOTEXTILE FABRIC TYPE SAS NON-WOVEN	SY	2000	\$2.13	\$4,260.00	\$2.05	\$4,100.00	\$1.00	\$2,000.00	\$4.00	\$8,000.00	\$3.18	\$6,360.00
24		GEOTEXTILE GRID TYPE BX1100	SY	2000	\$2.14	\$4,280.00	\$2.05	\$4,100.00	\$1.00	\$2,000.00	\$4.00	\$8,000.00	\$3.20	\$6,400.00
25	4020	1-1/4" CRUSHED STONE ROADWAY BASE	TON	11000	\$14.35	\$157,850.00	\$13.70	\$150,700.00	\$18.67	\$205,370.00	\$21.00	\$231,000.00	\$27.85	\$306,350.00
		CRUSHED AGGREGATE BASE COURSE, 3"												
26		(INCLUDES EBS)	TON	2000	\$25.20	\$50,400.00	\$24.05	\$48,100.00	\$10.00	\$20,000.00	\$30.50	\$61,000.00	\$31.58	\$63,160.00
27		PIPE BULKHEAD	EACH	3	\$255.64	\$766.92	\$255.00	\$765.00	\$255.00	\$765.00	\$255.00	\$765.00	\$364.08	\$1,092.24
28		INTERNAL CHIMNEY SEAL	EACH	36	\$733.83	\$26,417.88	\$732.00	\$26,352.00	\$732.00	\$26,352.00	\$732.00	\$26,352.00	\$474.24	\$17,072.64
29	5056	SANITARY LATERAL CLEANOUT	EACH	61	\$2,155.38	\$131,478.18	\$2,150.00	\$131,150.00	\$2,150.00	\$131,150.00	\$2,150.00	\$131,150.00	\$1,957.33	\$119,397.13
20	5074	SANITARY LATERAL CLEANING AND	E401:	C4	#200 CC	600 040 70	#200 AA	#00 700 00	#200 00	¢00 700 00	#200 CC	¢00 700 00	#254.22	#04 400 50
30		PRELINING VIDEO INSPECTION	EACH	61	\$390.98	\$23,849.78	\$390.00	\$23,790.00	\$390.00	\$23,790.00	\$390.00	\$23,790.00	\$351.32	\$21,430.52
31	5075	SANITARY SEWER SPOT REPAIR	EACH	2	\$4,511.25	\$9,022.50	\$4,500.00	\$9,000.00	\$4,500.00	\$9,000.00	\$4,500.00	\$9,000.00	\$5,117.71	\$10,235.42
20	E070	CANITADY CEMED LATERAL CROT REPAIR	FACU	_	¢4 444 00	#0 000 00	¢4 400 00	#0 000 00	¢4 400 00	#0 000 00	¢4 400 00	#0 000 00	to 400 40	#6 070 00
32		SANITARY SEWER LATERAL SPOT REPAIR SANITARY LATERAL REINSTATEMENT	EACH	2	\$4,411.00	\$8,822.00	\$4,400.00	\$8,800.00	\$4,400.00	\$8,800.00	\$4,400.00	\$8,800.00	\$3,436.18	\$6,872.36
33 34		8 INCH PVC SANITARY SEWER PIPE	EACH	63 130	\$25.06 \$235.59	\$1,578.78 \$30.626.70	\$25.00 \$235.00	\$1,575.00 \$30.550.00	\$25.00 \$235.00	\$1,575.00 \$30.550.00	\$25.00 \$235.00	\$1,575.00 \$30.550.00	\$25.09 \$173.48	\$1,580.67 \$22.552.40
35	5108	10 INCH PVC SANITARY SEWER PIPE	LF LF	35	\$235.59 \$253.63	,	\$235.00 \$253.00	\$30,550.00	\$235.00 \$253.00	\$30,550.00	\$235.00 \$253.00	\$30,550.00	\$173.48 \$264.80	\$22,552.40
35		12 INCH PVC SANITARY SEWER PIPE	LF LF	50	\$253.63 \$258.65	\$8,877.05 \$12,932.50	\$253.00 \$258.00	\$8,855.00	\$253.00 \$258.00	\$8,855.00	\$253.00 \$258.00	\$8,855.00	\$264.80 \$226.58	\$9,268.00 \$11,329.00
36		15 INCH PVC SANITARY SEWER PIPE	LF	20	\$443.11	\$12,932.50	\$258.00 \$442.00	\$12,900.00	\$258.00 \$442.00	\$12,900.00	\$442.00	\$12,900.00	\$220.58 \$410.35	\$11,329.00
31	5115	6 INCH SANITARY SEWER PIPE	LF	∠∪	φ443.11	φυ,00∠.∠U	φ44∠.00	φυ,040.00	φ44∠.∪∪	φυ,040.00	φ44∠.00	φυ,040.00	φ410.35	φυ,∠υ1.00
38	5157	REPLACEMENT (OPEN CUT)	LF	320	\$165.41	\$52.931.20	\$165.00	\$52.800.00	\$165.00	\$52.800.00	\$165.00	\$52.800.00	\$146.26	\$46.803.20
38		8 INCH CIPP SANITARY SEWER PIPE	LF LF	2310	\$165.41	\$52,931.20 \$76,414.80	\$165.00 \$33.00	\$52,800.00 \$76,230.00	\$165.00	\$52,800.00	\$165.00	\$52,800.00	\$146.26 \$33.12	\$46,803.20 \$76,507.20
40	5308	10 INCH CIPP SANITARY SEWER PIPE	LF	2210	\$35.08	\$76,414.80	\$35.00	\$76,230.00	\$35.00	\$76,230.00	\$35.00	\$76,230.00	\$35.12 \$35.13	\$76,507.20
40	5310	12 INCH CIPP SANITARY SEWER PIPE	LF	920	\$35.09 \$46.12	\$42.430.40	\$35.00 \$46.00	\$42.320.00	\$35.00 \$46.00	\$42.320.00	\$35.00 \$46.00	\$42,320.00	\$35.13 \$46.17	\$42.476.40
41		14 INCH CIPP SANITARY SEWER PIPE	LF	295	\$80.20	\$42,430.40	\$46.00	\$42,320.00	\$46.00	\$42,320.00	\$80.00	\$42,320.00	\$46.17	\$42,476.40
43		15 INCH CIPP SANITARY SEWER PIPE	LF	365	\$80.20	\$29,273.00	\$80.00	\$29,200.00	\$80.00	\$29,200.00	\$80.00	\$29,200.00	\$80.30	\$29,309.50
43	JJII	IO INVOLLOUIT OUNTIVITY OF MENTIFE	LF	505	φου.Ζυ	ΨΔΘ,ΔΙΟ.00	φου.υυ	ΨΔΘ,ΖΟΟ.ΟΟ	φου.υυ	ΨΔΘ,ΖΟΟ.ΟΟ	φου.υυ	ΨΔΘ,ΖΟΟ.ΟΟ	φου.30	Ψ23,303.30

CONCRETE - Delafield Page 1 of 7

	050444	40 INOLI OIDD OANITADY OFWED DIDE		570	***	* 45 744 00 I	400.00		***	* 45 000 00	400.00		***	045 774 00
44	05311A	16 INCH CIPP SANITARY SEWER PIPE SANITARY LATERAL LINING (CIPP) WITHIN 25	LF	570	\$80.20	\$45,714.00	\$80.00	\$45,600.00	\$80.00	\$45,600.00	\$80.00	\$45,600.00	\$80.30	\$45,771.00
45	5350	FT. OF SEWER MAIN	EACH	61	\$4.912.25	\$299,647.25	\$4.900.00	\$298.900.00	\$4.900.00	\$298.900.00	\$4.900.00	\$298.900.00	\$4.366.36	\$266,347.96
40	5550	SANITARY LATERAL LINING (CIPP)	EACH	01	φ 4 ,912.25	\$299,047.25	φ4,900.00	\$290,900.00	\$4,900.00	\$290,900.00	\$4,900.00	\$290,900.00	φ4,300.30	\$200,347.90
		ADDITIONAL LENGTH OVER 25 FT. FROM												
46	5351	SEWER	LF	590	\$29.57	\$17,446.30	\$29.50	\$17,405.00	\$29.50	\$17,405.00	\$29.50	\$17,405.00	\$10.04	\$5,923.60
47		48 INCH DIA SANITARY MANHOLE	VF	28	\$701.75	\$19,649.00	\$700.00	\$19,600.00	\$700.00	\$19,600.00	\$700.00	\$19,600.00	\$502.94	\$14.082.32
	0.00	48 INCH DIA SANITARY MANHOLE W/			ψ.σσ	ψ10,010.00	ψ. σσ.σσ	\$10,000.00	ψ. σσ.σσ	ψ10,000.00	ψ. σσ.σσ	\$10,000.00	ψ00 <u>2</u> .0 .	ψ11,002.02
48	5405	OUTSIDE DROP	VF	13	\$1,022.55	\$13,293.15	\$1.020.00	\$13,260.00	\$1.020.00	\$13,260.00	\$1.020.00	\$13,260.00	\$670.40	\$8,715.20
		REHABILITATE SANITARY MANHOLE W/			* 1,0==100	* · · · · · · · · · · · · · · · · · · ·	Ţ:,;==::::	4 10,200	¥ 1,0=0100	* 10,200.00	* 1,020100	4 10,200100	***************************************	70,1101=0
49	5410	CEMENTITIOUS LINER	EACH	32	\$1,328.31	\$42,505.92	\$1,325.00	\$42,400.00	\$1,325.00	\$42,400.00	\$1,325.00	\$42,400.00	\$1,329.98	\$42,559.36
		REHABILITATE STORM MANHOLE W/			. ,			,		,				
50	5415	CEMENTITIOUS LINER	EACH	13	\$1,127.81	\$14,661.53	\$1,125.00	\$14,625.00	\$1,125.00	\$14,625.00	\$1,125.00	\$14,625.00	\$1,129.23	\$14,679.99
		SANITARY MANHOLE BENCH / INVERT /												
51	5420	TROUGH WORK - MINOR	EACH	14	\$591.48	\$8,280.72	\$590.00	\$8,260.00	\$590.00	\$8,260.00	\$590.00	\$8,260.00	\$141.91	\$1,986.74
		SANITARY MANHOLE CHIMNEY, FRAME &												
52	5432	COVER REPLACEMENT	EACH	32	\$1,002.50	\$32,080.00	\$1,000.00	\$32,000.00	\$1,000.00	\$32,000.00	\$1,000.00	\$32,000.00	\$521.06	\$16,673.92
53	5475	48 INCH DIA STORM MANHOLE	EACH	4	\$2,711.76	\$10,847.04	\$2,705.00	\$10,820.00	\$2,705.00	\$10,820.00	\$2,705.00	\$10,820.00	\$2,363.56	\$9,454.24
54	5481	72 INCH DIA DOGHOUSE STORM MANHOLE	EACH	3	\$8,055.09	\$24,165.27	\$8,035.00	\$24,105.00	\$8,035.00	\$24,105.00	\$8,035.00	\$24,105.00	\$5,036.95	\$15,110.85
55	5484	48 INCH DIA STORM INLET	EACH	6	\$3,102.74	\$18,616.44	\$3,095.00	\$18,570.00	\$3,095.00	\$18,570.00	\$3,095.00	\$18,570.00	\$2,713.10	\$16,278.60
56	5485	2'X3' STORM INLET	EACH	40	\$3,132.81	\$125,312.40	\$3,125.00	\$125,000.00	\$3,125.00	\$125,000.00	\$3,125.00		\$1,849.93	\$73,997.20
57	5487	4'X4' STORM INLET	EACH	2	\$7,202.97	\$14,405.94	\$7,185.00	\$14,370.00	\$7,185.00	\$14,370.00	\$7,185.00	\$14,370.00	\$5,570.98	\$11,141.96
58	5508	8 INCH PVC STORM SEWER PIPE	LF	40	\$88.22	\$3,528.80	\$88.00	\$3,520.00	\$88.00	\$3,520.00	\$88.00	\$3,520.00	\$51.65	\$2,066.00
59	5512 5542	12 INCH PVC STORM SEWER PIPE 12 INCH RCP STORM SEWER PIPE	LF	20	\$139.35	\$2,787.00	\$139.00		\$139.00	\$2,780.00	\$139.00		\$125.79	\$2,515.80
60 61	5545	15 INCH RCP STORM SEWER PIPE	LF LF	660 300	\$174.44 \$182.46	\$115,130.40 \$54,738.00	\$174.00 \$182.00	\$114,840.00 \$54,600.00	\$174.00 \$182.00	\$114,840.00 \$54,600.00	\$174.00 \$182.00	\$114,840.00 \$54,600.00	\$106.52 \$102.37	\$70,303.20 \$30,711.00
62	5548	18 INCH RCP STORM SEWER PIPE	LF	60	\$185.46	\$11.127.60	\$185.00	\$11,100.00	\$185.00	\$11,100.00	\$185.00	\$11.100.00	\$102.37	\$6,973.20
63	5557	27 INCH RCP STORM SEWER PIPE	LF	10	\$287.72	\$2,877.20	\$287.00	\$2,870.00	\$287.00	\$2,870.00	\$287.00	\$2,870.00	\$256.19	\$2,561.90
- 03	3331	STORM MANHOLE CHIMNEY, FRAME &	LI	10	Ψ201.12	ΨΖ,011.20	Ψ207.00	Ψ2,070.00	Ψ207.00	Ψ2,070.00	Ψ207.00	Ψ2,070.00	Ψ230.19	Ψ2,301.90
64	5695	COVER REPLACEMENT	EACH	17	\$1.002.50	\$17.042.50	\$1,000.00	\$17.000.00	\$1.000.00	\$17.000.00	\$1.000.00	\$17.000.00	\$969.17	\$16,475.89
65	5850	CONCRETE COLLAR	EACH	3	\$466.16	\$1,398,48	\$465.00	\$1,395.00	\$465.00	\$1,395.00	\$465.00	\$1,395.00	\$1.725.23	\$5,175,69
	0000	SANITARY SEWER CLEANING AND	2,1011		ψ100.10	ψ1,000.10	ψ100.00	ψ1,000.00	ψ100.00	ψ1,000.00	ψ.00.00	\$1,000.00	ψ1,120.20	ψο, σ.σσ
66	5951	TELEVISING	LF	6850	\$2.86	\$19,591.00	\$2.85	\$19,522.50	\$2.85	\$19,522.50	\$2.85	\$19,522.50	\$2.86	\$19,591.00
67	5952	SANITARY SEWER LATERAL TELEVISING	EACH	150	\$491.23	\$73,684.50	\$490.00	\$73,500.00	\$490.00	\$73,500.00	\$490.00	\$73,500.00	\$451.69	\$67,753.50
						·								
68	5955	STORM SEWER CLEANING AND TELEVISING	LF	5100	\$4.51	\$23,001.00	\$4.50	\$22,950.00	\$4.50	\$22,950.00	\$4.50	\$22,950.00	\$4.52	\$23,052.00
69	6100	EXTRA BAGS OF CEMENT	EA	50	\$30.08	\$1,504.00	\$30.00	\$1,500.00	\$20.00	\$1,000.00	\$50.00	\$2,500.00	\$30.00	\$1,500.00
70	6500	TYPE A SLURRY	CY	100	\$85.21	\$8,521.00	\$85.00	\$8,500.00	\$85.00	\$8,500.00	\$85.00	\$8,500.00	\$102.05	\$10,205.00
		CONCRETE PAVEMENT REMOVAL &												
71	7001	REPLACEMENT	SY	3100	\$103.26	\$320,106.00	\$103.00	\$319,300.00	\$93.49	\$289,819.00	\$87.59	\$271,529.00	\$103.00	\$319,300.00
		CONCRETE CURB AND GUTTER REMOVAL &												
72	7002	REPLACEMENT	LF	400	\$60.15	\$24,060.00	\$60.00	\$24,000.00	\$66.92	\$26,768.00	\$60.76	\$24,304.00	\$60.00	\$24,000.00
73	7008	8-INCH CONCRETE PAVEMENT	SY	600	\$50.13	\$30,078.00	\$50.00	\$30,000.00	\$63.58	\$38,148.00	\$65.00	\$39,000.00	\$50.00	\$30,000.00
74	7050	CONCRETE DAYEMENT DIAMOND ORIVINA	SY	20000	#0.00	6127 000 00	#40 F0	#060 000 00	#0.00	£420 F00 00	# C C7	¢430 700 00	\$6.79	¢4.44.000.00
74	7050	CONCRETE PAVEMENT DIAMOND GRINDING CONCRETE CURB AND GUTTER DIAMOND	δY	20800	\$6.62	\$137,696.00	\$12.50	\$260,000.00	\$6.66	\$138,528.00	\$6.67	\$138,736.00	\$6.79	\$141,232.00
75	7051	GRIDING	LF	500	\$32.37	\$16.185.00	\$20.00	\$10.000.00	\$10.77	\$5.385.00	\$32.29	\$16.145.00	\$32.94	\$16.470.00
76	7109	9-INCH DOWELED CONCRETE PAVEMENT	SY	17600	\$32.37 \$61.15	\$1,076,240.00	\$20.00		\$63.08	\$5,385.00	\$66.00		\$32.94 \$61.00	
77	7130	30" CONCRETE CURB & GUTTER	LF	8900	\$19.05	\$169.545.00	\$19.00		\$23.92	\$212.888.00	\$24.00		\$19.00	\$169.100.00
- ''-	7 100	30" CONCRETE MOUNTABLE MEDIAN ISLAND	LI	0300	ψ13.03	ψ103,543.00	ψ13.00	φ103,100.00	Ψ20.92	ΨΖ1Ζ,000.00	Ψ24.00	Ψ2 10,000.00	ψ13.00	φ103,100.00
78	7151	NOSE	SF	200	\$20.05	\$4,010.00	\$20.00	\$4,000.00	\$15.16	\$3,032.00	\$12.00	\$2,400.00	\$20.00	\$4,000.00
- , ,	. 101		٥.	_50	Ψ£0.00	ψ.,στο.σο	Ψ20.00	Ç 1,000.00	ψ10.10	Ψ5,002.00	Ψ12.00	φ=,ποσ.σσ	Ψ20.00	ψ.,000.00
79	7301	CURB RAMP DETECTABLE WARNING FIELDS	SF	280	\$70.18	\$19.650.40	\$70.00	\$19,600,00	\$36.69	\$10.273.20	\$50.00	\$14.000.00	\$70.00	\$19.600.00
80		PEDESTRIAN CURB	LF	100	\$70.18	\$7,018.00	\$70.00	\$7,000.00	\$39.26	\$3,926.00	\$29.00	\$2,900.00	\$70.00	\$7,000.00
81		4-INCH CONCRETE SIDEWALK	SF	36400	\$7.02	\$255,528.00	\$7.00	\$254,800.00	\$5.45	\$198,380.00	\$5.69	\$207,116.00	\$7.00	\$254,800.00
82	7306	6-INCH CONCRETE SIDEWALK & DRIVE	SF	10200	\$8.02	\$81,804.00	\$8.00	\$81,600.00	\$7.34	\$74,868.00	\$6.79	\$69,258.00	\$8.00	\$81,600.00
83	7307	7-INCH CONCRETE SIDEWALK & DRIVE	SF	11200	\$8.02	\$89,824.00	\$8.00	\$89,600.00	\$8.57	\$95,984.00	\$6.53	\$73,136.00	\$8.00	\$89,600.00
		CONCRETE ROADWAY SMOOTHNESS												
84	7700	PROFILING	EA	2	\$1,604.00	\$3,208.00	\$2,000.00	\$4,000.00	\$1,600.00	\$3,200.00	\$2,000.00	\$4,000.00	\$4,800.00	\$9,600.00
85	7990	8-INCH CONCRETE SIDEWALK & DRIVE	SF	1630	\$8.02	\$13,072.60	\$8.00	\$13,040.00	\$9.71	\$15,827.30	\$9.58	\$15,615.40	\$8.00	\$13,040.00
86	8012	MILL EXISTING ASPHALT ROADWAY - 2"	SY	1900	\$5.26	\$9,994.00	\$4.50	\$8,550.00	\$5.25	\$9,975.00	\$5.25	\$9,975.00	\$5.25	\$9,975.00

CONCRETE - Delafield Page 2 of 7

		FOUNDATION PREPARATION OF MILLED												
87	8020	PAVEMENT	SY	1900	\$0.35	\$665.00	\$0.90	\$1,710.00	\$0.35	\$665.00	\$0.35	\$665.00	\$0.35	\$665.00
88	8050	HMA PAVEMENT TEMPORARY PATCHING	SY	500	\$22.06	\$11,030.00	\$32.00	\$16,000.00	\$33.86	\$16,930.00	\$22.00	\$11,000.00	\$44.00	\$22,000.00
89	8065	HMA PAVEMENT PATCHING	SY	100	\$88.22	\$8,822.00	\$100.00	\$10,000.00	\$88.00	\$8,800.00	\$88.00	\$8,800.00	\$88.00	\$8,800.00
91	8104	HMA PAVEMENT TYPE 4 LT 58-28 S	TON	150	\$153.38	\$23,007.00	\$220.00	\$33,000.00	\$153.00	\$22,950.00	\$153.00	\$22,950.00	\$153.00	\$22,950.00
92	8205	HMA PAVEMENT TYPE 5 LT 58-28 H	TON	250	\$146.37	\$36,592.50	\$95.00	\$23,750.00	\$146.00	\$36,500.00	\$146.00	\$36,500.00	\$146.00	\$36,500.00
93	10002	REMOVE EXISTING TRAFFIC SIGNAL EQUIPMENT	LS	2	\$4,931.33	\$9,862.66	\$4,919.03	\$9,838.06	\$4,919.03	\$9,838.06	\$4,919.03	\$9,838.06	\$4,919.03	\$9,838.06
93	10002	CONDUIT RIGID NONMETALLIC SCHEDULE 40	Lõ		\$4,931.33	\$9,002.00	\$4,919.03	\$9,030.00	\$4,919.03	\$9,030.00	\$4,919.03	\$9,030.00	\$4,919.03	\$9,030.00
94	10012	2-INCH. WDOT 652.0225	LF	233	\$8.80	\$2,050.40	\$8.78	\$2,045.74	\$8.78	\$2,045.74	\$8.78	\$2,045.74	\$8.78	\$2,045.74
94	10012	CONDUIT RIGID NONMETALLIC SCHEDULE 40	LF	233	φ0.00	φ2,030.40	φ0.70	\$2,045.74	φ0.70	\$2,045.74	φ0.76	\$2,045.74	φ0.70	\$2,045.74
95	10013	3-INCH. WDOT 652.0235	LF	1748	\$13.10	\$22.898.80	\$13.07	\$22.846.36	\$13.07	\$22.846.36	\$13.07	\$22,846.36	\$13.07	\$22,846.36
- 00	10010	PULL BOXES STEEL 24x42-INCH, WDOT		17-10	ψ10.10	ΨΣΣ,000.00	ψ10.01	ΨΣΣ,010.00	ψ10.07	ΨΣΣ,010.00	ψ10.07	ΨΣΣ,010.00	ψ10.07	ΨΖΣ,010.00
96	10026	653.0140	EACH	19	\$1,177.11	\$22,365.09	\$1,174.17	\$22,309.23	\$1,174.17	\$22,309.23	\$1,174.17	\$22,309.23	\$1,174.17	\$22,309.23
					* 1,11111	+ ,	* · , · · · · · ·	+,	¥ 1,11111	+,	¥ 1,111	+,	¥ 1,11111	+,
97	10031	CONCRETE BASE - TYPE 1, WDOT 654.0101	EACH	13	\$2,171.37	\$28,227.81	\$2,165.95	\$28,157.35	\$2,165.95	\$28,157.35	\$2,165.95	\$28,157.35	\$2,165.95	\$28,157.35
											. ,			
98	10032	CONCRETE BASE - TYPE 2, WDOT 654.0102	EACH	2	\$2,608.99	\$5,217.98	\$2,602.48	\$5,204.96	\$2,602.48	\$5,204.96	\$2,602.48	\$5,204.96	\$2,602.48	\$5,204.96
99	10040	CONCRETE BASE - TYPE 10, WDOT 654.0110	EACH	4	\$10,852.65	\$43,410.60	\$10,825.58	\$43,302.32	\$10,825.58	\$43,302.32	\$10,825.58	\$43,302.32	\$10,825.58	\$43,302.32
100	10045	CONCRETE BASE - (SPECIAL EXCAVATION)	EACH	23	\$253.92	\$5,840.16	\$253.29	\$5,825.67	\$253.29	\$5,825.67	\$253.29	\$5,825.67	\$253.29	\$5,825.67
		CONCRETE CONTROL CABINET BASE, TYPE 9												
101	10050	SPECIAL, WDOT 654.0217	EACH	2	\$4,266.91	\$8,533.82	\$4,256.27	\$8,512.54	\$4,256.27	\$8,512.54	\$4,256.27	\$8,512.54	\$4,256.27	\$8,512.54
400	40005	CABLE TRAFFIC SIGNAL 5-14 AWG, WDOT	. –	050	04.00	#4 040 00	#4.00	#4 040 00	04.00	#4.040.00	04.00	#4.040.00	04.00	04.040.00
102	10065	655.0230 CABLE TRAFFIC SIGNAL 7-14 AWG, WDOT	LF	956	\$1.38	\$1,319.28	\$1.38	\$1,319.28	\$1.38	\$1,319.28	\$1.38	\$1,319.28	\$1.38	\$1,319.28
103	10067	655.0240	LF	1513	\$1.77	\$2.678.01	\$1.77	\$2,678.01	\$1.77	\$2.678.01	\$1.77	\$2.678.01	\$1.77	\$2.678.01
103	10067	CABLE TRAFFIC SIGNAL 12-14 AWG, WDOT	LF	1513	Φ1.77	\$2,070.01	Φ1.//	\$2,070.01	Φ1.77	\$2,070.01	Φ1.77	\$2,070.01	φ1.77	\$2,070.01
104	10072	655.0260	LF	2435	\$2.76	\$6,720.60	\$2.75	\$6,696.25	\$2.75	\$6,696.25	\$2.75	\$6,696.25	\$2.75	\$6,696.25
104	10072	CABLE TYPE UF 2-10 AWG GROUNDED,		2400	Ψ2.10	ψ0,720.00	Ψ2.70	ψ0,030.23	Ψ2.10	ψ0,030.23	Ψ2.10	ψ0,030.23	Ψ2.10	ψ0,030.23
105	10090	WDOT 655.0320	LF	2343	\$2.31	\$5,412.33	\$2.30	\$5,388.90	\$2.30	\$5,388.90	\$2.30	\$5,388.90	\$2.30	\$5,388.90
	10000	ELECTRICAL WIRE TRAFFIC SIGNAL 10 AWG.		20.0	Ψ2.01	ψο, 2.00	Ψ2.00	ψο,σσσ.σσ	Ψ2.00	ψο,σσσ.σσ	ψ2.00	ψο,σσσ.σσ	\$2.00	ψο,σσσ.σσ
106	10110	WDOT 655.0515	LF	6000	\$1.09	\$6.540.00	\$1.09	\$6,540.00	\$1.09	\$6,540.00	\$1.09	\$6,540.00	\$1.09	\$6,540.00
		TRAFFIC SIGNAL EVP DETECTOR CABLE,			·		·							
107	10120	WDOT 655.0900	LF	1598	\$1.81	\$2,892.38	\$1.81	\$2,892.38	\$1.81	\$2,892.38	\$1.81	\$2,892.38	\$1.81	\$2,892.38
		ELECTRICAL SERVICE METER BREAKER												
108	10140	PEDESTAL, WDOT 655.0200.01	LS	2	\$621.40	\$1,242.80	\$619.85	\$1,239.70	\$619.85	\$1,239.70	\$619.85	\$1,239.70	\$619.85	\$1,239.70
		INSTALL TRAFFIC SIGNAL CONTROLLER AND												
109	10150	CABINET (CITY FURNISHED)	EACH	2	\$2,430.62	\$4,861.24	\$2,424.56	\$4,849.12	\$2,424.56	\$4,849.12	\$2,424.56	\$4,849.12	\$2,424.56	\$4,849.12
		AUDIBLE PEDESTRIAN PUSH BUTTON		_										
110	10735	SYSTEM	LS	2	\$10,404.08	\$20,808.16	\$10,378.13	\$20,756.26	\$10,378.13	\$20,756.26	\$10,378.13	\$20,756.26	\$10,378.13	\$20,756.26
111	10800	SIGNAL MOUNTING HARDWARE, WDOT 658.5069.01	1.0	2	\$606.74	¢4 242 40	\$605.22	¢1 210 44	\$605.22	\$1,210.44	\$605.22	¢1 210 44	\$605.22	¢1 210 44
- '''	10000	056.5009.01	LS		\$606.74	\$1,213.48	\$005.22	\$1,210.44	\$605.22	\$1,210.44	\$005.22	\$1,210.44	\$605.22	\$1,210.44
112	10900	EMERGENCY VEHICLE PREEMPTION SYSTEM	LS	2	\$9,129.70	\$18,259.40	\$9,106.93	\$18,213.86	\$9,106.93	\$18,213.86	\$9,106.93	\$18,213.86	\$9,106.93	\$18,213.86
112	10300	VIDEO VEHICLE DETECTION SYSTEM (CITY	LO		ψ5,125.70	ψ10,233.40	ψυ, 100.33	ψ10,210.00	ψυ, 100.93	ψ10,210.00	ψυ, 100.00	ψ10,210.00	ψ5,100.55	ψ10,213.00
113	10950	FURNISHED)	LS	2	\$1,246.17	\$2,492.34	\$1,243.06	\$2,486.12	\$1,243.06	\$2,486.12	\$1,243.06	\$2,486.12	\$1,243.06	\$2,486.12
1.0		CONCRETE BASE - TYPE 10-SPECIAL, WDOT			Ţ., <u>=</u>	Ţ <u>_</u> , .0 <u>_</u> .01	+ -,= 10.00	Ţ_, .00. /L	Ţ., <u>Z</u> .0.00	,Z	Ţ :, = :0:00	,Z	Ţ.,Z.0.00	,
114	10980	654.0120	EACH	2	\$12,113.65	\$24,227.30	\$12,083.43	\$24,166.86	\$12,083.43	\$24,166.86	\$12,083.43	\$24,166.86	\$12,083.43	\$24,166.86
		CABLE TRAFFIC SIGNAL 15-14 AWG, WDOT	-				. ,	. ,		. ,	. ,	. ,		. ,
115	10981	655.0270	LF	401	\$3.56	\$1,427.56	\$3.55	\$1,423.55	\$3.55	\$1,423.55	\$3.55	\$1,423.55	\$3.55	\$1,423.55
		TRANSPORT AND INSTALL PEDESTAL BASE												
116	10982 A	(CITY FURNISHED)	EACH	13	\$104.63	\$1,360.19	\$104.37	\$1,356.81	\$104.37	\$1,356.81	\$104.37	\$1,356.81	\$104.37	\$1,356.81
		TRANSPORT AND INSTALL TRANS. BASE												
117	10982 B	(CITY FURNISHED)	EACH	2	\$122.37	\$244.74	\$122.06	\$244.12	\$122.06	\$244.12	\$122.06	\$244.12	\$122.06	\$244.12
, , ,	40000 0	TRANSPORT AND INSTALL POLE TYPE 2			0.400.00	0.400.05	0.107.15	¢ 107 17	A 407 45	6407.45	0.407.45	¢ 107 / 5	0.407.45	0.107.15
118	10982 C	(CITY FURNISHED)	EACH	1	\$428.23	\$428.23	\$427.16	\$427.16	\$427.16	\$427.16	\$427.16	\$427.16	\$427.16	\$427.16
440	10982 D	TRANSPORT AND INSTALL POLE TYPE 3	FACU	_	6400.00	6400.00	£407.00	6407.00	¢407.00	6407.00	¢407.00	¢407.00	¢407.00	¢407.00
119	10982 D	(CITY FURNISHED) TRANSPORT AND INSTALL SIGNAL STDS	EACH	1	\$488.88	\$488.88	\$487.66	\$487.66	\$487.66	\$487.66	\$487.66	\$487.66	\$487.66	\$487.66
120	10082 =	ALUMINUM 15-FT (CITY FURNISHED)	EACH	5	\$384.92	\$1,924.60	\$383.96	\$1,919.80	\$383.96	\$1,919.80	\$383.96	\$1,919.80	\$383.96	\$1,919.80
120	10302 E	ALCOMING TO THOM TO THE OWN OF THE OWN OWN OF THE OWN OF THE OWN OF THE OWN OWN OF THE OWN	LAUIT	J	ψ504.32	ψ1,324.00	ψυσυ.συ	ψ1,515.00	ψυσυ.συ	ψ1,313.00	ψυσυ.30	ψ1,313.00	ψυσυ.συ	ψ1,313.00

CONCRETE - Delafield Page 3 of 7

	1	TRANSPORT AND INSTALL SIGNAL STDS	1		1	1		1		1			1	
121	10982 F	ALUMINUM 10-FT (CITY FURNISHED)	EACH	1	\$177.00	\$177.00	\$176.56	\$176.56	\$176.56	\$176.56	\$176.56	\$176.56	\$176.56	\$176.56
121		TRANSPORT AND INSTALL LUMINAIRE ARM 4"	LACIT		ψ177.00	ψ177.00	ψ170.30	ψ170.30	ψ170.50	ψ170.30	ψ170.50	ψ170.50	ψ170.30	ψ170.50
122		CLAMP, 8-FT (CITY FURNISHED)	EACH	1	\$185.66	\$185.66	\$185.20	\$185.20	\$185.20	\$185.20	\$185.20	\$185.20	\$185.20	\$185.20
		TRANSPORT AND INSTALL SIGNAL FACE 3S			·								·	
123	10982 H	12-INCH (CITY FURNISHED)	EACH	22	\$262.62	\$5,777.64	\$261.96	\$5,763.12	\$261.96	\$5,763.12	\$261.96	\$5,763.12	\$261.96	\$5,763.12
		TRANSPORT AND INSTALL SIGNAL FACE 4S												
124		12-INCH (CITY FURNISHED)	EACH	10	\$280.22	\$2,802.20	\$279.52	\$2,795.20	\$279.52	\$2,795.20	\$279.52	\$2,795.20	\$279.52	\$2,795.20
125		TRANSPORT AND INSTALL PEDESTRIAN FACE 16-INCH (CITY FURNISHED)	EACH	14	\$144.60	\$2,024.40	\$144.24	\$2,019.36	\$144.24	\$2,019.36	\$144.24	\$2,019.36	\$144.24	\$2,019.36
123		INSTALL MONOTUBE POLES, TYPE 10 (CITY	LACIT	14	ψ144.00	Ψ2,024.40	ψ144.24	Ψ2,019.30	ψ144.24	Ψ2,019.30	ψ144.24	Ψ2,019.30	ψ144.24	Ψ2,019.30
126		FURNISHED)	EACH	4	\$1,112.64	\$4,450.56	\$1,109.86	\$4,439.44	\$1,109.86	\$4,439.44	\$1,109.86	\$4,439.44	\$1,109.86	\$4,439.44
		INSTALL MONOTUBE POLES, TYPE 10-												
127		SPECIAL (CITY FURNISHED)	EACH	2	\$1,112.64	\$2,225.28	\$1,109.86	\$2,219.72	\$1,109.86	\$2,219.72	\$1,109.86	\$2,219.72	\$1,109.86	\$2,219.72
400		INSTALL MONOTUBE ARM, 15-FT (CITY	- A O		04 440 07	04 440 07	04 440 50	#4.440.50	04 440 50	#4.440.50	04 440 50	04 440 50	04 440 50	04 440 50
128		FURNISHED) INSTALL MONOTUBE ARM, 25-FT (CITY	EACH	1	\$1,116.37	\$1,116.37	\$1,113.59	\$1,113.59	\$1,113.59	\$1,113.59	\$1,113.59	\$1,113.59	\$1,113.59	\$1,113.59
129		FURNISHED)	EACH	1	\$1,393.60	\$1,393.60	\$1,113.59	\$1,113.59	\$1,113.59	\$1,113.59	\$1,113.59	\$1,113.59	\$1,113.59	\$1,113.59
120	1000.2	INSTALL MONOTUBE ARM, 30-FT (CITY	2,1011		ψ1,000.00	ψ1,000.00	ψ1,110.00	ψ1,110.00	ψ1,110.00	ψ1,110.00	ψ1,110.00	ψ1,110.00	ψ1,110.00	ψ1,110.00
130		FURNISHED)	EACH	2	\$1,393.60	\$2,787.20	\$1,390.12	\$2,780.24	\$1,390.12	\$2,780.24	\$1,390.12	\$2,780.24	\$1,390.12	\$2,780.24
		INSTALL MONOTUBE ARM, 35-FT (CITY												
131		FURNISHED)	EACH	1	\$1,393.60	\$1,393.60	\$1,390.12	\$1,390.12	\$1,390.12	\$1,390.12	\$1,390.12	\$1,390.12	\$1,390.12	\$1,390.12
132		INSTALL MONOTUBE ARM, 40-FT (CITY FURNISHED)	EACH	1	\$151.94	\$151.94	\$1,390.12	\$1,390.12	\$1,390.12	\$1,390.12	\$1,390.12	\$1,390.12	\$1,390.12	\$1,390.12
132		INSTALL LUMINAIRE ARM STEEL 8-FT (CITY	EACH	- '	φ151.94	φ151.94	\$1,390.12	\$1,390.12	\$1,390.12	\$1,390.12	\$1,390.12	\$1,390.12	\$1,390.12	\$1,390.12
133		FURNISHED)	EACH	8	\$151.94	\$1,215.52	\$151.56	\$1,212.48	\$151.56	\$1,212.48	\$151.56	\$1,212.48	\$151.56	\$1,212.48
		INSTALL CITY-FURNISHED STREET LIGHT			·						·	. ,	·	
134	.0000	LUMINAIRE	EACH	9	\$147.29	\$1,325.61	\$146.92	\$1,322.28	\$146.92	\$1,322.28	\$146.92	\$1,322.28	\$146.92	\$1,322.28
		REMOVE EXISTING EVP SYSTEM AND												
405		ASSOCIATED WIRING, DELAFIELD & WASHINGTON		1	#4 000 00	¢4 000 00	¢4 000 70	¢4 000 70	£4 000 70	¢4 000 70	¢4 000 70	¢4 000 70	¢4 000 70	¢4 000 70
135		REMOVE EXISTING EVP SYSTEM AND	LS	1	\$1,232.83	\$1,232.83	\$1,229.76	\$1,229.76	\$1,229.76	\$1,229.76	\$1,229.76	\$1,229.76	\$1,229.76	\$1,229.76
		ASSOCIATED WIRING, DELAFIELD &												
136		MORELAND	LS	1	\$1,232.83	\$1,232.83	\$1,229.76	\$1,229.76	\$1,229.76	\$1,229.76	\$1,229.76	\$1,229.76	\$1,229.76	\$1,229.76
		REMOVE EXISTING AUDIBLE PEDESTRIAN			. ,	. ,	. ,	. ,		. ,	- ,	. ,	. ,	,
		PUSH BUTTON SYSTEM, DELAFIELD &												
137		WASHINGTON	LS	1	\$1,232.83	\$1,232.83	\$1,229.76	\$1,229.76	\$1,229.76	\$1,229.76	\$1,229.76	\$1,229.76	\$1,229.76	\$1,229.76
		REMOVE EXISTING AUDIBLE PEDESTRIAN PUSH BUTTON SYSTEM, DELAFIELD &												
138		MORELAND	LS	1	\$1,232,83	\$1,232,83	\$1,229,76	\$1,229,76	\$1,229,76	\$1,229,76	\$1,229,76	\$1,229,76	\$1,229,76	\$1,229,76
100		REMOVE EXISTING VIDEO DETECTION			Ψ1,202.00	Ψ1,202.00	Ψ1,220.70	Ψ1,220.70	ψ1,220.70	Ψ1,220.70	Ψ1,220.70	Ψ1,220.70	Ψ1,220.10	Ψ1,220.70
		SYSTEM AND ASSOCIATED WIRING,												
139	10989	DELAFIELD & MORELAND	LS	1	\$1,232.83	\$1,232.83	\$1,229.76	\$1,229.76	\$1,229.76	\$1,229.76	\$1,229.76	\$1,229.76	\$1,229.76	\$1,229.76
440	40000	TEMPORARY TRAFFIC SIGNAL, DELAFIELD &			405.040.75	005 040 75	#05 500 05	#0F F00 0F	#05 500 05	#05 500 55	405 500 05	005 500 05	405 500 05	#05 500 55
140		MORELAND SIGNAL BASE UTILITY LOCATE W/HYDRO	LS	1	\$35,619.73	\$35,619.73	\$35,530.89	\$35,530.89	\$35,530.89	\$35,530.89	\$35,530.89	\$35,530.89	\$35,530.89	\$35,530.89
141		EXCAVATION	HR	24	\$456.54	\$10,956.96	\$455.40	\$10,929.60	\$455.40	\$10,929.60	\$455.40	\$10,929.60	\$455.40	\$10,929.60
171		INSTALL FIBER OPTIC COMMUNICATIONS IN	1111	<u> </u>	ψ-00.04	ψ10,000.90	ψ-30.40	ψ10,020.00	ψ-00.40	ψ10,020.00	ψ-00.40	ψ10,020.00	ψ+33.40	ψ10,525.00
142		SIGNAL CABINETS	LS	3	\$6,069.93	\$18,209.79	\$6,054.79	\$18,164.37	\$6,054.79	\$18,164.37	\$6,054.79	\$18,164.37	\$6,054.79	\$18,164.37
		FURNISH AND INSTALL WIRELESS RADIO												
143	10993	COMMUNICATIONS IN SIGNAL CABINET	EACH	2	\$5,082.16	\$10,164.32	\$5,069.48	\$10,138.96	\$5,069.48	\$10,138.96	\$5,069.48	\$10,138.96	\$5,069.48	\$10,138.96
144	11005	CONCRETE BASE TYPE 5 MIDOT 054 0405	FACU	20	¢000 00	¢04 000 00	¢000 7.4	¢24 000 00	¢000.74	¢04.000.00	¢000 74	¢24 000 00	#000 74	#04 000 00
144 145		CONCRETE BASE - TYPE 5, WDOT 654.0105 PULL BOX - 15-INCH PVC	EACH EACH	22 12	\$999.23 \$623.12	\$21,983.06 \$7,477.44	\$996.74 \$621.57	\$21,928.28 \$7,458.84	\$996.74 \$621.57	\$21,928.28 \$7,458.84	\$996.74 \$621.57	\$21,928.28 \$7,458.84	\$996.74 \$621.57	\$21,928.28 \$7,458.84
140	11020	I OLE BOX - 10-INOTTI VO	LACIT	14	ψυζυ. 12	Ψ1,411.44	ΨυΖ 1.υ1	ψ1,430.04	Ψ0∠1.07	Ψ1,450.04	ΨυΖ 1.07	Ψ1,450.04	Ψ02 1.37	ψ1,400.04
146	11026	PULL BOX - 24-INCH STEEL, WDOT 653.0140	EACH	18	\$876.92	\$15,784.56	\$874.73	\$15,745.14	\$874.73	\$15,745.14	\$874.73	\$15,745.14	\$874.73	\$15,745.14
147	11101	CONDUIT 2-INCH HDPE (EXCAVATED)	LF	4000	\$7.12	\$28,480.00	\$7.10	\$28,400.00	\$7.10	\$28,400.00	\$7.10	\$28,400.00	\$7.10	\$28,400.00
148		CONDUIT 2-INCH HDPE SPECIAL (BORED)	LF	200	\$20.37	\$4,074.00	\$20.32	\$4,064.00	\$20.32	\$4,064.00	\$20.32	\$4,064.00	\$20.32	\$4,064.00
140		CONDUIT RIGID NONMETALLIC SCH 40, 2- INCH, WDOT 652,0225		200	#0.00	£4.700.00	#0.70	¢4.750.00	¢0.70	¢4.750.00	#0.70	¢4.750.00	#0.70	¢4.750.00
149 150		CONDUIT 3-INCH HDPE	LF LF	3900	\$8.80 \$10.01	\$1,760.00 \$39,039.00	\$8.78 \$9.99	\$1,756.00 \$38.961.00	\$8.78 \$9.99	\$1,756.00 \$38,961.00	\$8.78 \$9.99	\$1,756.00 \$38,961.00	\$8.78 \$9.99	\$1,756.00 \$38.961.00
151		12/2 UF W/GROUND WIRE	LF	880	\$1.29	\$1,135.20	\$9.99 \$1.29	\$1,135.20	\$1.29	\$1,135.20	\$1.29	\$1,135.20	\$1.29	\$1,135.20
152		#10 XLP USE WIRE	LF	330	\$1.16	\$382.80	\$1.16	\$382.80	\$1.16	\$382.80	\$1.16	\$382.80	\$1.16	\$382.80
												, , , , , , , , , , , , , , , , , , ,		,

CONCRETE - Delafield Page 4 of 7

152	11125	#6 XLP USE WIRE	LF	4200	\$2.31	\$9,702.00	\$2.30	\$9,660.00	\$2.30	\$9,660.00	\$2.30	\$9,660.00	\$2.30	\$9,660.00
153 154		#4 XLP USE WIRE	LF	12500	\$3.20	\$40.000.00	\$3.19	\$39,875.00	\$3.19	\$39,875.00	\$3.19	\$39,875.00	\$3.19	\$39,875.00
134	11120		LF	12300	\$3.20	\$40,000.00	აა.19	\$39,075.UU	Ф 3.19	\$39,675.00	कुउ. १५	φ39,075.00	ఫ ડ. 19	\$39,675.00
		REMOVE AND DISPOSE OF EXISTING WIRE												
455	440044	AND ABANDON CONDUIT IN PLACE (STREET		_	00 405 07	40.405.07	40.450.50	40.450.50	00 450 50	40.450.50	00 450 50	40.450.50	40 450 50	40.450.50
155	11201A	LIGHT SYSTEM)	LS	1	\$2,465.67	\$2,465.67	\$2,459.52	\$2,459.52	\$2,459.52	\$2,459.52	\$2,459.52	\$2,459.52	\$2,459.52	\$2,459.52
		REMOVE AND DISPOSE OF EXISTING WIRE												
		AND ABANDON CONDUIT IN PLACE												
156	11201B	(DELAFIELD & WASHINGTON SIGNAL)	LS	1	\$1,479.40	\$1,479.40	\$1,475.71	\$1,475.71	\$1,475.71	\$1,475.71	\$1,475.71	\$1,475.71	\$1,475.71	\$1,475.71
		REMOVE AND DISPOSE OF EXISTING WIRE												
		AND ABANDON CONDUIT IN PLACE												
157	11201C	(DELAFIELD & MORELAND SIGNAL)	LS	1	\$2,465.67	\$2,465.67	\$2,459,52	\$2,459,52	\$2,459,52	\$2,459,52	\$2,459,52	\$2,459.52	\$2,459.52	\$2,459.52
	112010	REMOVE AND DISPOSE OF EXISTING		· · ·	ψ2, 100.01	ψ2, 100.01	ψ2, 100.02	Ψ2, 100.02	ψ2,100.02	Ψ2,100.02	ψ <u>2, 100.02</u>	ψ2,100.02	Ψ2, 100.02	Ψ2, .00.02
158	11202	CONCRETE BASE	EACH	51	\$246.56	\$12,574.56	\$245.95	\$12,543.45	\$245.95	\$12,543.45	\$245.95	\$12,543.45	\$245.95	\$12,543.45
130	11202	REMOVE AND DISPOSE OF EXISTING PULL	LACIT	31	Ψ240.50	ψ12,374.30	Ψ243.93	Ψ12,040.40	Ψ240.90	Ψ12,040.40	Ψ240.90	ψ12,545.45	Ψ240.90	Ψ12,040.40
450	11203	BOX	E4011	20	¢400.00	#2 450 40	£400.00	CO 440 44	¢400.00	CO 440 44	¢400.00	CO 440 44	£400.00	CO 440 44
159	11203	-	EACH	28	\$123.29	\$3,452.12	\$122.98	\$3,443.44	\$122.98	\$3,443.44	\$122.98	\$3,443.44	\$122.98	\$3,443.44
		REMOVE AND SALVAGE EXISTING STREET												
160	11401	LIGHT UNIT	EACH	2	\$606.42	\$1,212.84	\$604.91	\$1,209.82	\$604.91	\$1,209.82	\$604.91	\$1,209.82	\$604.91	\$1,209.82
		REMOVE AND REINSTALL EXISTING STREET												
161	11403	LIGHT UNIT	EACH	22	\$970.27	\$21,345.94	\$967.85	\$21,292.70	\$967.85	\$21,292.70	\$967.85	\$21,292.70	\$967.85	\$21,292.70
		TEMPORARY STREET LIGHTING OVERHEAD												
162	11505	WIRING	LS	1	\$16,153.68	\$16,153.68	\$16,113.40	\$16,113.40	\$16,113.40	\$16,113.40	\$16,113.40	\$16,113.40	\$16,113.40	\$16,113.40
163		INSTALL NEW QUAZITE VAULT - FIBER	EACH	2	\$2.832.47	\$5.664.94	\$2.825.40	\$5,650.80	\$2,825.40	\$5,650,80	\$2.825.40	\$5,650.80	\$2.825.40	\$5,650.80
100	11000	REMOVE EXISTING STREET LIGHT UNIT,	Littori	-	ΨΣ,00Σ.11	φο,σστ.στ	Ψ2,020.10	φο,σσσ.σσ	ΨΣ,020.10	φο,σσσ.σσ	Ψ2,020.10	ψο,οσο.σσ	ΨΣ,020.10	ψ0,000.00
		REPLACE CONCRETE BASE, REINSTALL												
404	44000		E4011		04 000 50	AF 400 74	04 005 07	05 445 04	64 005 07	65.445.04	04.005.07	05 445 04	04 005 07	Ø5 445 04
164	11990	EXISTING STREET LIGHT UNIT.	EACH	3	\$1,809.58	\$5,428.74	\$1,805.07	\$5,415.21	\$1,805.07	\$5,415.21	\$1,805.07	\$5,415.21	\$1,805.07	\$5,415.21
165	12001	PAVEMENT MARKING REMOVAL, 4-INCH	LF	100	\$12.03	\$1,203.00	\$12.00	\$1,200.00	\$12.00	\$1,200.00	\$12.00	\$1,200.00	\$12.00	\$1,200.00
166		PAVEMENT MARKING REMOVAL, 6-INCH	LF	100	\$12.53	\$1,253.00	\$12.50	\$1,250.00	\$12.50	\$1,250.00	\$12.50	\$1,250.00	\$12.50	\$1,250.00
167	12004	PAVEMENT MARKING REMOVAL, 12-INCH	LF	100	\$14.04	\$1,404.00	\$14.00	\$1,400.00	\$14.00	\$1,400.00	\$14.00	\$1,400.00	\$14.00	\$1,400.00
168	12201	PAVEMENT MARKING EPOXY, LINE, 4-INCH	LF	9800	\$1.50	\$14,700.00	\$1.50	\$14,700.00	\$1.50	\$14,700.00	\$1.50	\$14,700.00	\$1.50	\$14,700.00
		PAVEMENT MARKING EPOXY, DOUBLE LINE,												
169	12202	4-INCH	LF	11500	\$1.50	\$17,250.00	\$1.50	\$17,250.00	\$1.50	\$17,250.00	\$1.50	\$17,250.00	\$1.50	\$17,250.00
	.2202				\$1.00	ψ, <u>2</u> 00.00	ψ1.00	ψ11,200.00	ψ1.00	ψ11,200.00	ψσσ	ψ, <u>2</u> 00.00	Ų1.00	ψ,200.00
170	12204	PAVEMENT MARKING EPOXY, LINE, 8-INCH	LF	600	\$3.01	\$1,806.00	\$3.00	\$1,800.00	\$3.00	\$1,800.00	\$3.00	\$1,800.00	\$3.00	\$1,800.00
170	12204	PAVEMENT MARKING EPOXT, LINE, 6-INCH	LF	600	φ3.U1	\$1,000.00		φ1,000.00	\$ 3.00	\$1,000.00		φ1,000.00	 გა.00	φ1,000.00
4-4	10011	DAY/EMENT MARKING EROYAL MERIANINGOE			244.00	A== 4 = 0	044.00	A ==0.00	044.00	4550.00	244.00	4550.00	244.00	4550.00
171	12211	PAVEMENT MARKING EPOXY, MEDIAN NOSE	SF	50	\$11.03	\$551.50	\$11.00	\$550.00	\$11.00	\$550.00	\$11.00	\$550.00	\$11.00	\$550.00
		PAVEMENT MARKING GROOVED EPOXY,												
172	12302	DOUBLE LINE, 4-INCH	LF	3500	\$5.51	\$19,285.00	\$5.50	\$19,250.00	\$5.50	\$19,250.00	\$5.50	\$19,250.00	\$5.50	\$19,250.00
		PAVEMENT MARKING GROOVED EPOXY,												
173	12303	LINE, 6-INCH	LF	1300	\$24.06	\$31,278.00	\$24.00	\$31,200.00	\$24.00	\$31,200.00	\$24.00	\$31,200.00	\$24.00	\$31,200.00
		PAVEMENT MARKING GROOVED EPOXY,								` '			·	
174	12304	LINE, 8-INCH	LF	2400	\$8.52	\$20,448.00	\$8.50	\$20,400.00	\$8.50	\$20,400.00	\$8.50	\$20,400.00	\$8.50	\$20,400.00
		PAVEMENT MARKING GROOVED EPOXY,			¥0.02	+==,	Ψ0.00	Ţ, .00.00	ψ3.55	Ţ, .00.00	ψ0.00	+==,.00.00	\$0.00	+==, .00.00
175	12306	LINE, 18-INCH	LF	350	\$26.07	\$9,124.50	\$26.00	\$9,100.00	\$26.00	\$9,100.00	\$26.00	\$9,100.00	\$26.00	\$9,100.00
1/5	12300	PAVEMENT MARKING GROOVED EPOXY,	LF	330	φ20.07	φυ, 124.00	φ20.00	φυ, 100.00	φ20.00	φυ, 100.00	φ20.00	φυ, 100.00	φ∠0.00	φυ, 100.00
470	40540		E40	00	# FF4 00	£40 400 00	фEE0 00	#40 400 00	# FF0.00	£40.400.00	фгго оо	M40 400 00	# FF0.00	640 400 00
176	12512	ARROW	EACH	22	\$551.38	\$12,130.36	\$550.00	\$12,100.00	\$550.00	\$12,100.00	\$550.00	\$12,100.00	\$550.00	\$12,100.00
1 .	1	PAVEMENT MARKING GROOVED EPOXY,												
177		WORD	EACH	7	\$601.50	\$4,210.50	\$600.00	\$4,200.00	\$600.00	\$4,200.00	\$600.00	\$4,200.00	\$600.00	\$4,200.00
178	13002	REMOVE SIGN	EACH	75	\$12.13	\$909.75	\$19.00	\$1,425.00	\$19.00	\$1,425.00	\$19.00	\$1,425.00	\$19.00	\$1,425.00
179	13003	REMOVE POSTS	EACH	36	\$13.13	\$472.68	\$19.00	\$684.00	\$19.00	\$684.00	\$19.00	\$684.00	\$19.00	\$684.00
180	13020	SIGN POST, 2-3/8-INCH ROUND	EACH	27	\$118.40	\$3,196.80	\$235.00	\$6,345.00	\$235.00	\$6,345.00	\$235.00	\$6,345.00	\$235.00	\$6,345.00
181	13021	SIGN	EACH	81	\$160.40	\$12,992.40	\$205.00	\$16,605.00	\$205.00	\$16,605.00	\$205.00	\$16,605.00	\$205.00	\$16,605.00
182	13300	MOVE SIGN	EACH	8	\$24.96	\$199.68	\$125.00	\$1,000.00	\$125.00	\$1,000.00	\$125.00	\$1,000.00	\$125.00	\$1,000.00
		TOPSOIL. FERTILIZER, SEED & EROSION			J2	÷ .00.00	Ţ. 2 0.00	÷ .,000.00	Ţ.20.00	÷ :,000.00	Ţ.20.00	Ţ.,000.00	÷.20.00	÷ .,000.00
183	14003	MAT	SY	100	\$0.01	\$1.00	\$6.85	\$685.00	\$6.85	\$685.00	\$6.85	\$685.00	\$6.85	\$685.00
184	14005	TOPSOIL & SOD	SY	17000	\$9.80	\$166,600.00	\$7.15	\$121,550.00	\$7.15	\$121,550.00	\$7.15	\$121,550.00	\$7.15	\$121,550.00
		PLANTING MULCH			\$9.80 \$47.22		\$34.40	\$121,550.00	\$7.15 \$34.40	\$121,550.00	\$34.40		\$34.40	
185	14054		CY	100	\$47.22	\$4,722.00	\$34.40	 გა,440.00	\$34.40	 გა,440.00	\$34.40	\$3,440.00	\$34.40	\$3,440.00
400	1001	PROJECT LOCATION #2 LEMIRA AVENUE			00.000.05	#0 000 0T	#0.500.00	00.500.05	00 500 00	00.500.05	00 500 00	#O 500 05	40.500.00	40.500.50
186	1001	TRAFFIC CONTROL	LS	1	\$9,603.95	\$9,603.95	\$9,580.00	\$9,580.00	\$9,580.00	\$9,580.00	\$9,580.00	\$9,580.00	\$9,580.00	\$9,580.00
187	2003	EROSION BALES	EACH	20	\$0.20	\$4.00	\$13.00	\$260.00	\$13.00	\$260.00	\$13.00	\$260.00	\$13.00	\$260.00
188	2005	INLET PROTECTION	EACH	6	\$421.08	\$2,526.48	\$145.00	\$870.00	\$145.00	\$870.00	\$145.00	\$870.00	\$145.00	\$870.00
189	3021	CLEARING	SY	50	\$18.08	\$904.00	\$230.00	\$11,500.00	\$20.00	\$1,000.00	\$17.13	\$856.50	\$17.68	\$884.00
190	3022	GRUBBING	SY	50	\$11.82	\$591.00	\$250.00	\$12,500.00	\$10.00	\$500.00	\$11.20	\$560.00	\$7.58	\$379.00

CONCRETE - Delafield Page 5 of 7

192 SPECIAL SERVICE	191	3041	CLEARING	INCH DIA	70	\$35.39	\$2.477.30	\$50.00	\$3,500.00	\$39.00	\$2,730.00	\$33.54	\$2,347.80	\$65.65	\$4,595.50
1910 PICKANY, FIPS LIVER															
1986 SIST CONTROLLED AND CONTR															
195 3331 SEAGONE ENSTRES SEGENALK SF 17200 \$15.05 \$17.000 \$15.000 \$17.000 \$1		3300													
198 4919 MARTHER PARTICLE FARMER CYPE SAS NON-WOVEN BY 500 \$117.00 \$18.7	195	3331		SF	13200	\$0.56		\$1.20		\$1.71			\$19,800.00	\$1.03	\$13,596.00
99	196	3500	SAWCUTTING AT PAVEMENT LIMITS	LF	50	\$2.51	\$125.50	\$2.00	\$100.00	\$2.50	\$125.00	\$3.80	\$190.00	\$5.00	\$250.00
401 GOLDENIE FARRET UNE SAS (SON-MOVER)	197	3650	REMOVE EXISTING ROADWAY	SY	3100	\$1.83	\$5,673.00	\$1.75	\$5,425.00	\$6.31	\$19,561.00	\$7.00	\$21,700.00	\$4.92	\$15,252.00
201 4006 GEOTENTIE GROD IYFE EXTINO \$Y 500 \$2.06 \$10,000 \$3.00 \$10,000 \$4.00 \$4.00 \$2.00 \$10,000 \$3.00 \$10,000 \$3.00 \$4.00 \$2.00 \$4.00 \$2.00 \$4.00	198	4010	SHAPING AND GRADING TO SUBGRADE	LF	1000	\$81.70	\$81,700.00	\$26.90	\$26,900.00	\$44.66	\$44,660.00	\$43.00	\$43,000.00	\$88.27	
201 4006 GEOTENTIE GROD IYFE EXTINO \$Y 500 \$2.06 \$10,000 \$3.00 \$10,000 \$4.00 \$4.00 \$2.00 \$10,000 \$3.00 \$10,000 \$3.00 \$4.00 \$2.00 \$4.00 \$2.00 \$4.00								·						·	
MINISTREPLANGE NET BASE COURSE; 37 TON 2000 520.00 530.00	199	4015	GEOTEXTILE FABRIC TYPE SAS NON-WOVEN	SY	500	\$2.13	\$1,065.00	\$2.05	\$1,025.00	\$1.00	\$500.00	\$4.00	\$2,000.00	\$3.18	\$1,590.00
CRUSHED AGGREGATE BASE COLURES, 3* TON 500 \$26.00 \$10.460.00 \$50.00 \$10.00 \$15.260.00 \$30.20 \$15.260.00 \$30.20 \$15.260.00 \$30.20 \$10.00 \$10.00	200	4016	GEOTEXTILE GRID TYPE BX1100	SY	500	\$2.14	\$1,070.00	\$2.05	\$1,025.00	\$1.00	\$500.00	\$4.00	\$2,000.00	\$3.20	\$1,600.00
CRUSHED AGGREGATE BASE COURSE, 3* 1700 600 \$26.90 \$13.400.00 \$20.60 \$12.620.00 \$30.00 \$13.600.00 \$3	201	4020	1-1/4" CRUSHED STONE ROADWAY BASE	TON	2000	\$20.60		\$19.65	\$39,300.00	\$19.41	\$38.820.00	\$20.00	\$40,000.00	\$29.98	\$59,960.00
202 4933 (INCLUDES EBS)						7=0.00	Ţ, <u>_</u>	7.0.00	+ + + + + + + + + + + + + + + + + + +	*	+++++++++++++++++++++++++++++++++++++	,	+ 10,000	7-0.00	400,000.00
203 5050 NTERNAL CHIMREY SEAL PACH 4 \$733.83 \$2,955.92 \$772.00 \$2,020.00 \$772.00 \$2,020.00 \$772.00 \$2,020.00 \$474.24 \$1896.06 \$20.00 \$450.00 \$	202	4503		TON	500	\$26.90	\$13,450.00	\$25.65	\$12.825.00	\$10.00	\$5,000.00	\$30.50	\$15.250.00	\$32.01	\$16,005.00
\$955 SANTARY LATERAL CLEANING AND SACH SS \$2,155.80 \$57,558.00 \$375,250.00 \$31,050.00 \$37,550.00 \$31,0										\$732.00					
SANITARY LATERAL CLEANING AND EACH 35 \$380.08 \$13.884.30 \$380.00 \$15.880.00 \$2.150.00 \$75.250.00 \$380.00 \$13.550.00 \$381.02 \$212.286.20 \$205.5075 \$380.00 \$15.000.00 \$4.000.00									, ,						
206 5074 PRELIMINE VIDEO INSPECTION EACH 1 \$4.11.00 \$4.80.00 \$13.869.00 \$13.869.00 \$4.500.00						+ =,	4.0,.00.00	+ =,::::::	Ţ: 0,=00:00	7000.00	* · · · · · · · · · · · · · · · · · · ·		* ***********************************	¥ 1,001100	+++++++++++++++++++++++++++++++++++++
206 5075 SANITARY SEWER POT REPAIR EACH 1 \$4.511.25 \$4.500.00	205	5074		FACH	35	\$390.98	\$13 684 30	\$390.00	\$13,650,00	\$2 150 00	\$75,250,00	\$390.00	\$13,650,00	\$351.32	\$12 296 20
207 5076 SANITARY SEWER LATERAL SPOT REPAIR															
5080 SANTARY LATERAL REINSTATEMENT EACH 35 \$35.00 \$375.00 \$25.00 \$875.00 \$25.00 \$875.00 \$25.00 \$876.50 \$25.00 \$876.50 \$25.00 \$876.50 \$25.00 \$876.50 \$25.00	200	0010	STATISTICS OF THE STATE	Littori		ψ1,011.20	ψ1,011.20	ψ1,000.00	Ψ1,000.00	ψ1,000.00	Ψ1,000.00	ψ1,000.00	Ψ1,000.00	ΨΟ,ΤΙΤ.ΤΙ	φο, ι ι ι ι ι
5080 SANTARY LATERAL REINSTATEMENT EACH 35 \$35.00 \$375.00 \$25.00 \$875.00 \$25.00 \$875.00 \$25.00 \$876.50 \$25.00 \$876.50 \$25.00 \$876.50 \$25.00 \$876.50 \$25.00	207	5076	SANITARY SEWER LATERAL SPOT REPAIR	FACH	1	\$4 411 00	\$4 411 00	\$4 400 00	\$4,400,00	\$4 400 00	\$4,400,00	\$4 400 00	\$4,400,00	\$3 589 30	\$3 589 30
200 \$300 8 INCH CIPP SANITARY SEWER PIPE															
210 S399 10 INCH CIPP SANITARY SEWER PIPE LF 225 \$35.00 \$7.875.00 \$35.00 \$1.755.00 \$35.00 \$1.755.00 \$35.00 \$1.755.00 \$35.00 \$1.755.00 \$3															
SANITARY LATERAL LUNING (CIPP) WITHIN 25 SA,900.00 \$171,500.00 \$4,900.00 \$171,500.00 \$4,366.36 \$152,822.00															
211 5350 FT.OF SEWER MAIN EACH 35 \$4,912.25 \$171,928.75 \$4,900.00 \$171,500.00 \$4,900.00 \$171,500.00 \$4,000.00 \$171,500.00 \$4,300.00 \$171,500.00 \$4,300.00 \$171,500.00 \$4,300.00 \$171,500.00 \$4,300.00 \$171,500.00 \$4,300.00 \$171,500.00 \$4,300.00 \$171,500.00 \$4,300.00 \$171,500.00 \$4,300.00 \$171,500.00 \$4,300.00 \$171,500.00 \$4,300.00 \$171,500.00 \$4,300.00 \$171,500.00 \$4,300.00 \$171,500.00 \$4,300.00 \$171,500.00 \$4,300.00 \$171,500.00 \$4,300.00 \$171,500.00 \$4,300.00 \$171,500.00 \$4,300.00 \$171,500.00 \$4,300.00 \$171,500.00 \$4,300.00 \$171,500.00 \$1	210	0000			220	ψου.σσ	ψ1,000.20	ψου.σσ	ψ1,010.00	ψ00.00	ψ1,010.00	ψ00.00	ψ1,010.00	ψου. το	ψ1,004.20
SANITARY LAIREAL LINNIS (CIPP) ADDITIONAL LERGHT OVER 25 FT. FROM LF 210 \$29.57 \$6.209.70 \$29.50 \$6.195.00 \$29.50 \$	211	5350		FACH	35	\$4 912 25	\$171 928 75	\$4 900 00	\$171 500 00	\$4 900 00	\$171 500 00	\$4 900 00	\$171 500 00	\$4 366 36	\$152 822 60
ADDITIONAL LENGTH OVER 25 FT. FROM	211	0000		LACIT	00	ψτ,512.25	ψ171,520.75	ψ+,500.00	Ψ171,000.00	ψ+,500.00	ψ17 1,000.00	ψ+,500.00	ψ171,000.00	ψ+,000.00	Ψ102,022.00
215 5351 SEWER FEMALITATE SANITARY MANHOLE WI. EACH 3 \$1.328.31 \$3.984.93 \$1.325.00 \$3.975.00 \$1.325.00 \$3.975.00															
REHABILITATE SANITARY MANHOLE W/	212	5351	SEWED	15	210	\$20.57	\$6 200 70	\$20.50	\$6 105 00	\$20.50	\$6 105 00	\$20.50	\$6 105 00	\$10.04	\$2.108.40
215 5410 CEMENTITIOUS LINER	212	3331		LI	210	Ψ29.51	ψ0,209.70	Ψ29.50	ψ0, 190.00	Ψ29.50	ψ0,190.00	Ψ29.50	ψ0, 190.00	ψ10.0 4	Ψ2, 100.40
SANTARY MANHOLE BENCH / INVERT / EACH	212	E440		FACIL	2	¢4 220 24	¢2 004 02	¢4 325 00	¢2.075.00	¢4 225 00	¢2.075.00	¢4 225 00	¢2.075.00	¢4 220 00	#2 000 04
246 5420 TROUGH WORK - MINOR EACH 1 \$541.35 \$540.00	213	3410		EACH	3	φ1,320.31	φ3,904.93	\$1,323.00	φ3,973.00	\$1,323.00	φ3,973.00	\$1,323.00	φ3,973.00	\$1,329.90	φ3,909.94
SANITARY MANHOLE CHIMNEY, FRAME & 4 \$1,002.50 \$4,010.00 \$1,000.00 \$4,000.00 \$1,000.00 \$4,000.00 \$1,000.00 \$4,000.00 \$1,000.00 \$4,000.00 \$1,000.00 \$2,355.00 \$4,710.00 \$2,355.00 \$4,730.00 \$2,355.00 \$4,730.00 \$2,355.00 \$4,730.00 \$2,355.00 \$4,730.00 \$2,355.00 \$4,730.00 \$2,355.00 \$4,730.00 \$2,355.00 \$4,730.00 \$2,355.00 \$4,730.00 \$2,355.00 \$4,730.00 \$2,355.00 \$4,550.00 \$2,355.00 \$4,550.00 \$2,355.00 \$4,550.00 \$2,355.00 \$4,550.00	214	E420		FACIL	4	¢E44.2E	¢544.25	¢540.00	¢E40.00	¢540.00	¢E40.00	¢540.00	¢E40.00	¢141 01	¢141 01
215 5432 COVER REPLACEMENT	214	5420		EACH	1	\$541.35	\$541.35	\$540.00	\$540.00	\$540.00	\$540.00	\$540.00	\$540.00	\$141.91	\$141.91
216 5475 48 NICH DIA STORM MANHOLE EACH 2 \$2,360.89 \$4,721.78 \$2,355.00 \$4,710.00 \$2,355.00 \$4,710.00 \$2,355.00 \$4,710.00 \$2,355.00 \$4,710.00 \$2,355.00 \$4,710.00 \$2,355.00 \$4,710.00 \$2,355.00 \$4,710.00 \$2,355.00 \$4,710.00 \$2,355.00 \$5,110.00 \$2,355.00 \$2,200.00	245	E420	,	E4011	4	£4 000 F0	¢4.040.00	¢4 000 00	£4,000,00	¢4 000 00	¢4.000.00	¢4 000 00	£4.000.00	¢ E04.00	#0.004.04
217 5484 48 INCH DIA STORM INLET															
218 5485 273 STORM INLET															
219 5542 12 INCH RCP STORM SEWER PIPE															
220 5545 15 INCH RCP STORM SEWER PIPE LF 520 \$105.26 \$54,735.20 \$105.00 \$54,600.00 \$105.00 \$54,600.00 \$105.00 \$54,600.00 \$105.00 \$54,600.00 \$105.00 \$54,600.00 \$105.00 \$54,600.00 \$105.00 \$54,600.00 \$105.00 \$54,600.00 \$105.00 \$54,600.00 \$105.00 \$54,600.00 \$105.0									1 - 1						
SANITARY SEWER CLEANING AND															
221 5951 TELEVISING	220	5545		LF	520	φ105.20	\$54,735.20	\$ 105.00	\$54,600.00	\$105.00	\$54,600.00	\$105.00	\$54,600.00	φ00.32	\$45,920.40
222 5952 SANITARY SEWER LATERAL TELEVISING EACH 70 \$491.23 \$34,386.10 \$490.00 \$34,300.00 \$490.00 \$34,300.00 \$490.00 \$34,300.00 \$451.69 \$31,618.30	204	5054			4000	#0.00	#2.000.00	ድር ዕር	#2 C40 00	#0.0 F	#2.040.00	ሰ ር በር	#2 C40 00	#0.00	#2 CC0 00
223 5955 STORM SEWER CLEANING AND TELEVISING LF 620 \$4.51 \$2,796.20 \$4.50 \$2,790.00 \$4.50 \$2,790.00 \$4.50 \$2,790.00 \$4.50 \$2,790.00 \$4.50 \$2,802.40 \$224 6100 EXTRA BAGS OF CEMENT EA 50 \$30.08 \$1,504.00 \$30.00 \$1,500.00 \$1,500.00 \$20.00 \$1,000.00 \$50.00 \$2,500.00 \$30.00 \$1,500.00 \$225 6500 TYPE A SULRRY CY 50 \$85.21 \$4,260.50 \$85.21 \$4,260.50 \$85.00 \$4,250.00 \$85.00 \$4,250.00 \$85.00 \$4,250.00 \$10															
224 6100 EXTRA BAGS OF CEMENT EA 50 \$30.08 \$1,504.00 \$30.00 \$1,500.00 \$20.00 \$1,000.00 \$50.00 \$2,500.00 \$30.00 \$1,500.00	222	5952	SANITARY SEWER LATERAL TELEVISING	EACH	70	\$491.23	\$34,386.10	\$490.00	\$34,300.00	\$490.00	\$34,300.00	\$490.00	\$34,300.00	\$451.09	\$31,018.30
224 6100 EXTRA BAGS OF CEMENT EA 50 \$30.08 \$1,504.00 \$30.00 \$1,500.00 \$20.00 \$1,000.00 \$50.00 \$2,500.00 \$30.00 \$1,500.00	000	5055	CTORM CEMER OF EVENTS AND THE EVENTS	,_	000	A4.54	#0.700.00	64.50	#0.700.00	64.5 0	#0.700.00	64.5 0	#0.700.00	04.50	#0.000.40
225 6500 TYPE A SLURRY CY 50 \$85.21 \$4,260.50 \$85.00 \$4,250.00 \$85.00 \$4,250.00 \$102.05 \$5,102.50 226 7008 8-INCH CONCRETE PAVEMENT SY 3100 \$52.13 \$161,000.00 \$47.18 \$146,258.00 \$60.00 \$186,000.00 \$52.00 \$161,200.00 227 7130 30" CONCRETE CURB & GUTTER LF 2100 \$20.00 \$42,105.00 \$20.00 \$42,000.00 \$22.18 \$46,678.00 \$24.37 \$51,177.00 \$20.00 \$42,000.00 228 7301 CURB RAMP DETECTABLE WARNING FIELDS SF 40 \$70.18 \$2,807.20 \$70.00 \$2,800.00 \$39.33 \$1,532.20 \$60.00 \$2,400.00 \$70.00 \$2,800.00 230 7304 FEDESTRIAN CURB LF 100 \$70.18 \$7,018.00 \$70.00 \$7,000.00 \$46,32 \$4,633.00 \$2,900.00 \$2,900.00 \$2,900.00 \$2,900.00 \$2,900.00 \$2,900.00 \$2,900.00 \$7,000.00 \$7,000.00				_											
226 7008 8-INCH CONCRETE PAVEMENT SY 3100 \$52.13 \$161,603.00 \$52.00 \$161,200.00 \$47.18 \$146,258.00 \$60.00 \$186,000.00 \$52.00 \$161,200.00 \$227 7130 30° CONCRETE CURB & GUTTER LF 2100 \$20.05 \$42,105.00 \$20.00 \$42,000.00 \$22.18 \$46,578.00 \$24.37 \$51,177.00 \$20.00 \$42,000.00 \$228 7301 CURB RAMP DETECTABLE WARNING FIELDS SF 40 \$70.18 \$2,807.20 \$70.00 \$2,800.00 \$39.33 \$1,573.20 \$60.00 \$2,400.00 \$70.00 \$2,800.00 \$229 7302 PEDESTRIAN CURB LF 100 \$70.18 \$7,018.00 \$70.00 \$7,000.00 \$46.32 \$4,632.00 \$29.00 \$2,900.00 \$7,000.00 \$230 7304 4-INCH CONCRETE SIDEWALK SF \$8500 \$7.02 \$59,670.00 \$7.00 \$59,500.00 \$55,510 \$46,835.00 \$5.97 \$50,745.00 \$7.00 \$59,500.00 \$233 8104 HMA PAVEMENT TYPE 4 LT 58-28 S TON 50 \$190.48 \$9,524.00 \$220.00 \$11,000.00 \$9,500.00 \$190.00 \$9,500.00 \$190.00 \$9,500.00 \$190.00 \$9,500.00 \$190.00 \$9,500.00 \$190.00 \$9,500.00 \$190.00 \$9,500.00 \$190.00 \$9,500.00 \$190.00 \$9,500.00 \$190.00 \$9,500.00 \$190.00 \$9,500.00 \$190.00 \$9,500.00 \$190.00 \$9,500.00 \$190.00 \$9,500.00 \$190.00 \$190.00 \$9,500.00 \$190.00 \$9,500.00 \$190.00 \$9,500.00 \$190.00 \$9,500.00 \$190.00 \$9,500.00 \$190.00 \$9,500.00 \$190.00 \$9,500.00 \$190.00 \$9,500.00 \$190.00 \$9,500.00 \$190.00 \$9,500.00 \$190.00 \$9,500.00 \$190.00 \$9,500.00 \$190.00 \$9,500.00 \$190.00 \$9,500.00 \$190.00 \$9,500.00 \$190.00 \$9,500.00 \$190.00 \$9,500.00 \$1,0															
227 7130 30" CONCRETE CURB & GUTTER LF 2100 \$20.05 \$42,105.00 \$20.00 \$42,000.00 \$22.18 \$46,578.00 \$24.37 \$51,177.00 \$20.00 \$42,000.00 \$22.80 7301 CURB RAMP DETECTABLE WARNING FIELDS SF 40 \$70.18 \$2,807.20 \$70.00 \$2,800.00 \$39.33 \$1,573.20 \$60.00 \$2,400.00 \$70.00 \$2,800.00 \$229 7302 PEDESTRIAN CURB LF 100 \$70.18 \$7,018.00 \$70.00 \$7,000.00 \$46.32 \$4,632.00 \$29.00 \$2,900.00 \$70.00 \$7,000.00 \$230 7304 \$4-INCH CONCRETE SIDEWALK SF 8500 \$7.02 \$59,670.00 \$7.00 \$59,500.00 \$5.51 \$46,835.00 \$5.97 \$50,745.00 \$7.00 \$59,500.00 \$231 7306 \$6.1NCH CONCRETE SIDEWALK & DRIVE SF 4800 \$8.02 \$38,496.00 \$8.00 \$38,400.00 \$7.51 \$46,835.00 \$7.44 \$35,712.00 \$8.00 \$38,400.00 \$7.00 \$7.00 \$190.00 \$7.00 \$9,500.00 \$190.00 \$9,500.00 \$10,000.00 \$10,000.00															
228 7301 CURB RAMP DETECTABLE WARNING FIELDS SF 40 \$70.18 \$2,807.20 \$70.00 \$2,800.00 \$39.33 \$1,573.20 \$60.00 \$2,400.00 \$70.00 \$2,800.00 \$2,900.00 \$70.00 \$2,800.00 \$70.00															
229 7302 PEDESTRIAN CURB	221	7 130	SU CONCRETE CURB & GUTTER	LF	∠100	\$20.05	\$4∠,1U5.UÜ	\$20.00	\$4∠,000.00	\$22.18	ֆ4o,5/δ.UU	\$24.37	φοι,1/1.00	\$20.00	\$4∠,000.00
229 7302 PEDESTRIAN CURB	000	7004	CURD DAME DETECTABLE WARRING SISTERS	0-	40	670.40	#0 007 00	670.00	#0 000 00	600.00	#4 F70 C0	600.00	#0 400 00	#70.00	#0.000.00
230 7304 4-INCH CONCRETE SIDEWALK SF 8500 \$7.02 \$59,670.00 \$7.00 \$59,500.00 \$5.51 \$46,835.00 \$5.97 \$50,745.00 \$7.00 \$59,500.00 \$211 7306 6-INCH CONCRETE SIDEWALK & DRIVE SF 4800 \$8.02 \$38,496.00 \$8.00 \$38,400.00 \$7.35 \$35,280.00 \$7.44 \$35,712.00 \$8.00 \$38,400.00 \$233 8104 HMA PAVEMENT TYPE 4 LT 58-28 TON 50 \$190.48 \$9,524.00 \$220.00 \$11,000.00 \$9,500.00 \$190.00 \$9,500.00 \$190.00 \$9,500.00 \$190.00 \$9,500.00 \$190.00 \$9,500.00 \$190.00 \$9,500.00 \$190.00 \$9,500.00 \$190.00 \$1,000.00 \$1															
231 7306 G-INCH CONCRETE SIDEWALK & DRIVE SF 4800 \$8.02 \$38,496.00 \$8.00 \$38,400.00 \$7.35 \$35,280.00 \$7.44 \$35,712.00 \$8.00 \$38,400.00 \$233 8104 HMA PAVEMENT TYPE 4 LT 58-28 S TON 50 \$190.48 \$9,524.00 \$220.00 \$11,000.00 \$190.00 \$9,500.00 \$190.00 \$9,500.00 \$190.00 \$9,500.00 \$190.00 \$9,500.00 \$190.00 \$9,500.00 \$190.00 \$9,500.00 \$190.00 \$9,500.00 \$190.00 \$9,500.00 \$190.00 \$9,500.00 \$190.00 \$9,500.00 \$190.0															
233 8104 HMA PAVEMENT TYPE 4 LT 58-28 S TON 50 \$190.48 \$9,524.00 \$220.00 \$11,000.00 \$190.00 \$9,500.00 \$190.00 \$9,500.0															
235 13002 REMOVE SIGN EACH 3 \$12.13 \$36.39 \$19.00 \$57.00 \$19.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00															
236 13003 REMOVE POSTS EACH 3 \$13.13 \$39.39 \$19.00 \$57.00 \$19.00 \$57.00 \$19.00 \$57.00 \$19.00 \$57.00 \$19.00 \$57.00 \$19.00 \$57.00 \$19.00 \$57.00 \$19.00 \$57.00 \$19.00 \$57.00 \$19.00 \$57.00 \$19.00 \$57.00 \$19.00									, ,		1 - 1				1 - 1
237 13020 SIGN POST, 2-3/8-INCH ROUND EACH 5 \$118.30 \$591.50 \$235.00 \$1,175.00 \$235.00 \$1,175.00 \$235.00 \$1,175.00 \$235.00 \$1,175.00 \$235.00 \$1,175.00 \$235.00 \$1,175.00 \$235.00 \$1,175.00 \$235.00 \$1,175.00 \$235.00 \$1,175.00 \$235.00 \$1,025.00 \$205.00 \$205.00 \$205.00 \$205.00 \$205.00 \$205.00 \$205.00 \$205.00 \$205.00 \$205.0															
238 13021 SIGN EACH 5 \$160.40 \$802.00 \$205.00 \$1,025.00 \$205.00 \$1,025.00 \$205.00 \$1,025.00 \$205.00 \$1,025.00 </td <td></td>															
TOPSOIL, FERTILIZER, SEED & EROSION															
239 14003 MAT SY 100 \$0.01 \$1.00 \$6.85 \$685.00 <th< td=""><td>238</td><td>13021</td><td></td><td>EACH</td><td>5</td><td>\$160.40</td><td>\$802.00</td><td>\$205.00</td><td>\$1,025.00</td><td>\$205.00</td><td>\$1,025.00</td><td>\$205.00</td><td>\$1,025.00</td><td>\$205.00</td><td>\$1,025.00</td></th<>	238	13021		EACH	5	\$160.40	\$802.00	\$205.00	\$1,025.00	\$205.00	\$1,025.00	\$205.00	\$1,025.00	\$205.00	\$1,025.00
240 14005 TOPSOIL & SOD SY 2000 \$9.80 \$19,600.00 \$7.15 \$14,300.00 \$7.15 \$14,300.00 \$7.15 \$14,300.00	600	44000		0	400	***		** **	¢00= 5=	***	¢00= 0=	** **	¢00= 6=	***	0005.05
PROJECT LOCATION #3 WATERMAIN	240	14005		SY	2000	\$9.80	\$19,600.00	\$7.15	\$14,300.00	\$7.15	\$14,300.00	\$7.15	\$14,300.00	\$7.15	\$14,300.00
			PROJECT LOCATION #3 WATERMAIN												

CONCRETE - Delafield Page 6 of 7

		1												
241	6500	TYPE A SLURRY	CY	100	\$85.21	\$8,521.00	\$85.00	\$8,500.00	\$85.00	\$8,500.00	\$85.00	\$8,500.00	\$102.05	\$10,205.00
242	15001	INSTALL 12" WATER MAIN AND FITTINGS	LF	3660	\$120.30	\$440,298.00	\$120.00	\$439,200.00	\$120.00	\$439,200.00	\$120.00	\$439,200.00	\$108.97	\$398,830.20
243	15002		LF	1400	\$126.32	\$176,848.00	\$126.00	\$176,400.00	\$126.00	\$176,400.00	\$126.00	\$176,400.00	\$111.07	\$155,498.00
244	15003	INSTALL 6" WATER MAIN AND FITTINGS	LF	40	\$301.75	\$12,070.00	\$301.00	\$12,040.00	\$301.00	\$12,040.00	\$301.00	\$12,040.00	\$227.75	\$9,110.00
245	15004	INSTALL 12" GATE VALVE & BOX	EACH	9	\$239.60	\$2,156.40	\$239.00	\$2,151.00	\$239.00	\$2,151.00	\$239.00	\$2,151.00	\$860.06	\$7,740.54
246	15005		EACH	6	\$239.60	\$1,437.60	\$239.00	\$1,434.00	\$239.00	\$1,434.00	\$239.00	\$1,434.00	\$688.05	\$4,128.30
247	15006	INSTALL 6" GATE VALVE & BOX	EACH	1	\$239.60	\$239.60	\$239.00	\$239.00	\$239.00	\$239.00	\$239.00	\$239.00	\$516.04	\$516.04
248	15007	INSTALL HYDRANT ASSEMBLY	EACH	8	\$2,200.49	\$17,603.92	\$2,195.00	\$17,560.00	\$2,195.00	\$17,560.00	\$2,195.00	\$17,560.00	\$5,789.95	\$46,319.60
249	15008	CONNECT 3/4" SERVICE LATERAL (SL1)	EACH	7	\$2,907.25	\$20,350.75	\$2,900.00	\$20,300.00	\$2,900.00	\$20,300.00	\$2,900.00	\$20,300.00	\$3,532.81	\$24,729.67
250	15009	CONNECT 1" SERVICE LATERAL (SL2)	EACH	8	\$2,907.25	\$23,258.00	\$2,900.00	\$23,200.00	\$2,900.00	\$23,200.00	\$2,900.00	\$23,200.00	\$3,532.81	\$28,262.48
251	15010	CONNECT 3/4" SERVICE LATERAL (SL3)	EACH	5	\$3,408.50	\$17,042.50	\$3,400.00	\$17,000.00	\$3,400.00	\$17,000.00	\$3,400.00	\$17,000.00	\$5,961.89	\$29,809.45
252	15011	CONNECT 1" SERVICE LATERAL (SL4)	EACH	11	\$3,408.50	\$37,493.50	\$3,400.00	\$37,400.00	\$3,400.00	\$37,400.00	\$3,400.00	\$37,400.00	\$5,961.16	\$65,572.76
253	15012	CONNECT 1" SERVICE LATERAL (SL5)	EACH	1	\$2,907.25	\$2,907.25	\$2,900.00	\$2,900.00	\$2,900.00	\$2,900.00	\$2,900.00	\$2,900.00	\$3,532.81	\$3,532.81
254	15013	CONNECT 1-1/4" SERVICE LATERAL (SL6)	EACH	1	\$2,907.25	\$2,907.25	\$2,900.00	\$2,900.00	\$2,900.00	\$2,900.00	\$2,900.00	\$2,900.00	\$3,532.81	\$3,532.81
255	15014	CONNECT 3/4" SERVICE LATERAL (SL7)	EACH	1	\$4,611.50	\$4,611.50	\$4,600.00	\$4,600.00	\$4,600.00	\$4,600.00	\$4,600.00	\$4,600.00	\$6,705.91	\$6,705.91
256	15015	CONNECT 2" SERVICE LATERAL (SL8)	EACH	2	\$5,213.00	\$10,426.00	\$5,200.00	\$10,400.00	\$5,200.00	\$10,400.00	\$5,200.00	\$10,400.00	\$5,424.31	\$10,848.62
257	15016	CONNECT 1-1/4" SERVICE LATERAL (SL9)	EACH	2	\$4,511.25	\$9,022.50	\$4,500.00	\$9,000.00	\$4,500.00	\$9,000.00	\$4,500.00	\$9,000.00	\$6,528.23	\$13,056.46
258	15017	CONNECT 1" SERVICE LATERAL (SL 10)	EACH	1	\$4,511.25	\$4,511.25	\$4,500.00	\$4,500.00	\$4,500.00	\$4,500.00	\$4,500.00	\$4,500.00	\$6,528.23	\$6,528.23
259	15018	CONNECT 1" SERVICE LATERAL (SL 11)	EACH	14	\$4,611.50	\$64,561.00	\$4,600.00	\$64,400.00	\$4,600.00	\$64,400.00	\$4,600.00	\$64,400.00	\$6,705.91	\$93,882.74
260	15019	CONNECT 1" SERVICE LATERAL (SL 12)	EACH	6	\$3,057.63	\$18,345.78	\$3,050.00	\$18,300.00	\$3,050.00	\$18,300.00	\$3,050.00	\$18,300.00	\$4,032.59	\$24,195.54
261	15020	CONNECT 1" SERVICE LATERAL (SL 13)	EACH	1	\$3,057.63	\$3,057.63	\$3,050.00	\$3,050.00	\$3,050.00	\$3,050.00	\$3,050.00	\$3,050.00	\$4,032.59	\$4,032.59
262	15021	CONNECT 6" SERVICE LATERAL (SL 14)	EACH	2	\$5,714.25	\$11,428.50	\$5,700.00	\$11,400.00	\$5,700.00	\$11,400.00	\$5,700.00	\$11,400.00	\$4,364.39	\$8,728.78
263	15022	CONNECT 4" SERVICE LATERAL (SL 15)	EACH	2	\$7,408.48	\$14,816.96	\$7,390.00	\$14,780.00	\$7,390.00	\$14,780.00	\$7,390.00	\$14,780.00	\$8,174.69	\$16,349.38
264	15023	CONNECT 8" SERVICE LATERAL (SL 16)	EACH	1	\$5,353.35	\$5,353.35	\$5,340.00	\$5,340.00	\$5,340.00	\$5,340.00	\$5,340.00	\$5,340.00	\$5,075.14	\$5,075.14
265	15024	ABANDON EXISTING HYDRANT	EACH	10	\$810.02	\$8,100.20	\$808.00	\$8,080.00	\$808.00	\$8,080.00	\$808.00	\$8,080.00	\$1,778.28	\$17,782.80
266	15025	ABANDON VALVE BOXES & MANHOLES	L.S.	1	\$7,619.00	\$7,619.00	\$7,600.00	\$7,600.00	\$7,600.00	\$7,600.00	\$7,600.00	\$7,600.00	\$3,000.00	\$3,000.00
267	16001	LIQUIDATED DAMAGES	DAY	0	(\$1,500.00)	\$0.00	(\$1,500.00)	\$0.00	(\$1,500.00)	\$0.00	(\$1,500.00)	\$0.00	(\$1,500.00)	\$0.00
268	16002	PEDESTRIAN PENALTIES	DAY	0	(\$1,000.00)	\$0.00	(\$1,000.00)	\$0.00	(\$1,000.00)	\$0.00	(\$1,000.00)	\$0.00	(\$1,000.00)	\$0.00
		•					, , , , , , , , , , , , , , , , , , , ,		, , , , , , , , , , , , , , , , , , , ,		, , , , , , , , , , , , , , , , , , , ,		, , , , , , , , , , , , , , , , , , ,	

^{**}The City reserves the right to increase or delete quantities to make the bid most advantageous to the City and or reject any or all bids.

CONCRETE - Delafield Page 7 of 7